GD rr73s CEREED »r784 5D »r.784 ‘

601

YvIhR 314 B HH 57 |[RoHS2 @
N7 VU0 2168 | maw
BXO—>—»7 Y ar—&EUTCTERVERITFEYD, TeXR] 100101
BAL tmm
L1
T B
[
Yt N
D g 33
= & =
1T ) & \ll—\
BRI b
78 FRENE B
AT 27 (SUSR) 18 NACHIR =it s
#9450 B | C LI5S 7 )1
NARHMEEAR IV b (S45C/EED) 1A
JIEY v 7 hE : NTUTE o ' T ] $% (B )
$d1 230} ¢d #D B AV b o A% (M)
60032z | 17 35 10 30 25 12 | M4x16 | BC12C-6003 1,600
60042z | 20 42 12 34 29 13 | M5x16 | BC12C-6004 1,650
i 600527 | 25 a7 12 34 29 13 | M5x16 | BC12C-6005 1,700
62032z | 17 40 12 34 28 13 | M5x16 | BC12C-6203 1,700
62047z | 20 47 14 34 30 13 | M5x16 | BC12C-6204 1,650
620522 | 25 52 15 34 32 13 | M5x16 | BC12C-6205 1,750
60042Z | 20 42 12 37 29 13 | M5%x20 | BC15C-6004 1,700
600522 | 25 47 12 37 29 13 | M5x20 | BC15C-6005 1,650
. 60062z | 30 55 13 37 30 13 | M5x20 | BC15C-6006 1,750
620477 | 20 47 14 37 30 13 | M5x20 | BC15C-6204 1,700
62052z | 25 52 15 37 32 13 | M5x20 | BC15C-6205 1,750
62062z | 30 62 16 37 34 13 | M5x20 | BC15C-6206 1,850
600527 | 25 47 12 42 29 13 | M5x20 | BC20C-6005 1,850
60062z | 30 55 13 42 30 13 | M5x20 | BC20C-6006 1,850
20 60072z | 35 62 14 a2 32 13 | M5x20 | BC20C-6007 1,950
620522 | 25 52 15 42 32 13 | M5%x20 | BC20C-6205 1,900
620627 | 30 62 16 42 34 13 | M5x20 | BC20C-6206 2,000
620722 | 35 72 17 42 35 13 | M5%x20 | BC20C-6207 2,150
60062z | 30 55 13 47 30 13 | M5x20 | BC25C-6006 1,950
o5 60072z | 35 62 14 47 32 13 | M5x20 | BC25C-6007 2,050
62062z | 30 62 16 47 34 13 | M5%x20 | BC25C-6206 2,100
620722 | 35 72 17 47 35 13 | M5%x20 | BC25C-6207 2,250

4
’

iwata



